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Fifth Semester B.A./B.Sc./B.Com./B.B.A./B.C.A./ [ question Bookiet SI. No.
B.S.W. and All Other UG Programmes
Examination, December 2023/January 2024 518138
(NEP 2020) (2023-24 Batch Onwards)
EMPLOYABILITY SKILLS

Time : 2 Hours Max. Marks : 60

Instructions : 1) Answer all questions.
. 2) Each question carries one mark.
3) Only simple calculators are allowed.
4) Answers should be shaded by dark circles using blue/

black ball point pen in the Response sheets provided.

1. Find the next number in the following series 3, 6, 12, 24, :
A) 72 - B) 36 C) 48 D) 45

2. Find the missing number in the following series 2, 3, 7, 16, 32, 57, 93, ?, 206.
A) 125 B) 142 C) 136 D) 140

3. The least number to be subtracted from 1000 so that the new number is
& divisible by 23 is
A) 977 B) 12 C) 1 D) 11
4. If the number 136M425 is divisible by 9 then value of M is
A) 4 B) 3 «# C) 1 D) 6

5. Find least number exactly divisible by 12, 15; 20 and 27.
A) 54 B) 540 C) 12 D) 270

P.T.O.
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6.

1

8.

9.

10.

iy

12.

HCF. and LCM of two numbers.are 3 and 60. One number is 12. The other

number is
A) 5 B) 20 C) 15 D) 120

Find the smallest number by which 396 must be multiplied so that product
becomes a perfect square.

A) 2 B) 11 C) 3 D) 5

Simplify ¥/0.008 +¥0.125.

A) 0.07 B) 0.007 C) 0.7 D) 7

simplify ((3)°)° +(V/3)".

A) 81 B) 3 C) 9 D) 27

An accurate clock shows 8 O’clock in the morning. Through how many degrees
will'the hour hand rotate when the clock shows 2 O’clock in the afternoon ?
A) 144° B) 150° C) 168° D) 180°

If Independence day in 2023 was on Tuesday, then Independence day in*
2025 falls on

A) Wednesday B) Thursday

C) Friday D) Saturday

Rent of a house is increased from Rs. 7,000 to Rs. 7,700. Express the increase

in price as a percentagg of the original rent.

A) 7% B) 17%
C) 20% D) 10%
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13.

14.

16.

17,

18.

A shopkeeper made a profit of 20% on cost of an article which is sold for
¥ 2400. The cost price of the article is

A) % 2,000 B) 2,200
C) % 2,600 D) ¥ 2,800

Find the interest to be paid on a loan of Rs. 3000 at simple interest of 5%
per year for 5 years.

A) Rs. 150 B) Rs. 570
C) Rs. 750 D) Rs. 7,500

_ Find the compound interest on Rs. 20,000 at 6% rate of interest p.a. for

2 years.
A) Rs. 2,472 B) Rs. 22,274
C) Rs. 2,400 D) Rs. 4,800

If Rs. 2,700 is divided among three persons A, B, Cin the ratio 2:: 3:4,
then B’s share is

A) Rs. 600 B) Rs. 300
C) Rs. 1,200 D) Rs. 900

The sum of two numbers is 60 and their difference is 6. What is the ratio of
two numbers ?

A) 10 1 B) 11:9
ey St o)y 1210

A takes 8 days and B takes 10 days to complete a job. How much time is
required to complete the work together ?

A) 40/9 days B) 9/40 days
C) 18 days D) 9 days
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19.

20.

21.

22

23.

24.

5 men prepare 10 toys in 6 days working 6 hrs. a day. How many days can
12 men prepare 16 toys working 8 hrs. in a day ?

A) 6 days B) 9 days
C) 3 days D) 2 days

Two pipes A and B can separately fill a tank in 36 hours and 45 hours
respectively. If both the pipes are opened simultaneously, how much time
will be taken to fill the tank ?

A) 10 hours B) 12 hours
C) 15 hours D) 20 hours

A train starts from a place A at 6 a.m. and arrives at another place B at
4.30 p.m. on the same day. If the speed of the train is 40 km per hour, find
the distance travelled by the train.

A) 400 km B) 320 km
C) 230 km D) 420 km

A man riding his bicycle covers 150 metres in 25 seconds. What is his speed
in km per hour ?

A) 20 B) 23
C) 21.6 D) 25

-

A train 100 m long is running at the speed of 36 km/hr. Find the time taken
by the train to pass a man standing near the railway line.

A) 10 sec. B) 5 sec.
C) 20 sec. D) 25 sec.

A car driver leaves Bangalore at 8.30 A.M. and expects to reach a place
300 km from Bangalore at 12.30 P.M. At 10.30 A.M. he finds that he has
covered only 40% of the distance. By how much he has to increase the speed
of the car in order to keep up his schedule ?

A) 30 km/hour B) 35 km/hour
C) 40 km/hour D) 45 km/hour
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25. The speed of a boat when travelling down stream is 32 km/hr, where as when
travelling upstream is 28 km/hr. What is the speed of the boat in still water ?

A) 14 km/hr B) 30 km/hr  C) 10 km/hr D) 60 km/hr

26. A man can row 7.5 km/hr in still water. If in a river, speed of the stream is
1.5 km per hour, what is the downstream speed ?

A) 6 km/hr B) 3 km/hr C) 9 km/hr D) 4.5 km/hr

27. In how many different ways can the letters of the word ‘MOBILE’ be
.. ?
, @ arranged “

A) 6 B) 360 C) 120 D) 720

28. In how many ways can a cricket team of eleven be chosen out of 14 players ?

A) 634 B) 364 C) 346 D) 463

29. In how many ways can 5 girls be a seated in a bench ?

A) 120 B) 5 C) 6 D) 20

30. When an unbiased die is tossed, the probability of getting multiple of 3 is

1

A) B) 5

C) D) 1

Wl = WIN

31. If in a certain code language, TWENTY is coded as 863985 and ELEVEN is
coded as 323039, how will TWELVE be coded ?

A) 863903 B) 863658
C) 863203 D) 683583
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32. Find the missing term of the series BF, CH, ?, HO, LT.

33.

34.

35.

36.

A) FG B) EK C) CE D) FJ

Find the next term of the series 30, 42, 86,72, .
A) 80 B) 110 C) 90 D) 82

M, N, O, P, R are sitting together. P is at extreme right. N is to the immediate
left to O. R is in between M and N. Who is sitting to the left to P ?

A) M B) R C) N D) O

From the following, choose the alternative that correctly represents the water
image of the word NUCLEAR.

1. BYETCUWM

2. NNCIEVH

3. nuCrave

4. MNCTEVB

A) 1 B) 2

C) 3 D) 4

Identify the figure that completes the pattern.

_ (1) () (3) (4)
A) 1 B) 2
C)3 D) 4
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37. Find out the answer figure in which the given question figures is embedded.
Question Figure  Answer Figures

AN
L i | 1 7 \>
s
s
(a) (b) (c) (d)
A) a B) b

C) ¢ D) d

38. Find out the alternative figure which contains figure (X) as its part.

i 0J [ g
L1 ~
[ 1+ C [7JL)—'
X) (1) () (3) (4)
A) 1 B) 2
C) 3 D) 4

39. Choose the alternative which is closely resembles the mirror-image of the”
given combination.

ANS43Q12

1. ANSREQLS
2. STOEPSUA
3. SNAELOST
4. ISOMAUC

A) 1 B) 2
C) 3 D) 4
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40. Bank : Interest : : School : ?
A) Medicine ' B) Education
C) Food D) Plants
41. Figure out from amongst the four alternatives how the pattern would appear
when the transparent sheet is folded at the dotted line.
Problem Figure Answer Figure
S N O O bl Aot SR C
Transparent sheet (a) (b) (c) (d)
A) a B) b
Gl e D) d
42. If wall is called window, window is called door, door is called floor, floor is
" called roof and roof is called ventilator, what will a person stand on ?
A) Door
B) Ventilator B
C) Roof
D) Floor”
43. In a code language, if SUGAR is coded as ZNMDB and TEA is coded as
FLD, how would you code GRATE in the same code for ?
A) BNDFL  «+#
B) MBDFL
C) LDZMN

D) FLDZB
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44. Which of the following diagrams-indicates the best relation between Author,
Lawyer and Singer ?

o

. 45. Fing the next term of the series: 8, 16, 48, 192,

A) 960 B) 886
C) 990 D) 740
46. Ravi behaves strangely z;t times and, therefore, nobody gets with him.
A) about B) through
C) along D) up
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“47. Light : Blind
A) speech : dumb
B) language : deaf
C) tongue : sound

D) voice : vibration

48. She set up the institutions of international
A) repute B) renown

C) famous D) reputation

49. A sentence/a part of the sentence is underlined. Below are given alternatives
to the underlined part which may improve the sentence. Choose the correct
alternative. In case no improvement is needed choose ‘No improvement.’

"~ The main part of his speech was well understood.
A) That he spoke
B) In the speech of his -
C) Made when he spoke

D) No improvement

50. One must help his siblings. (spot the error)
A) Her
B) One’s
C) Him

D) None of the above
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Directions : Read the passage carefully and answer the questions 51-56 given below :
Working women, who are earning cash and having access to mobile phones,
perpetrate more spousal violence on husbands in India, revealed research
conducted by health experts at the International Institute for Population Sciences
(IPS), Mumbai. This could be for several reasons. “For instance, as women gain
economic autonomy, men may feel that their masculinities are being challenged,
and may indulge in controlling wife, or indulging in alcoholic behaviour, leading to
experience of spousal violence by cash earning women,” according to the research
titled ‘Prevalence and risk factors of physical violence against husbands: evidence
from India’ (2023), published by Cambridge University Press.

The research was conducted by Aparajita Chattopadhyay, Deepanjali Vishwakarma,
Suresh Jungari (all IPS), and Santosh Kumar Sharma (The George Institute for
Global Health, New Delhi). They observed that ‘access to mobile phones helps
empower‘\efvomen, and this could be a threat to a husband, leading to restricting
wife in communication, leading to spousal violence’. With the tremendous increase
in mobile usage, they found that ‘improved social network of a wife, who gets
support to indulge in violent acts for varying reasons, reporting of husband’s
behavioural traits to peers or relatives though mobile phones by wife, exposure
to violent media content, could be possible reasons for perpetration of violence

of women on men’.

A stirring finding of the study was that with increase in wife’s age, spousal violence
on husband increased. Older women gained authority with age, leading to more
violence on husbands with inc'reasing age of wife. It revealed that in India, spousal
violence against men stands at 29 per 1,000. The proportion of currently married
women committing spousal violence against their husband varied from 2 per
1,000 in Sikkim to 90 per 1,000 in Tamil Nadu in NFHS-4. It was observed that the
prevalence of spousal violence against husbands increased rapidly in the majority
of the States, except Sikkim, Goa, and Mizoram, during 2005-06 to 2015-16.

- T
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The prevalence of violence against husband was higher in nuclear family
(54/1 ,000) compared to non-nuclear family (28/1,000); higher among those who
live in poorest household; who were exposed to TV (31.4/1 ,000), or working and
getting paid in cash (43/1,000) than those who were not working.

The researchers noted that the prevalence of violence against husbands was
higher among those women whose - husbands consumed alcohol (56.1/1 ,000),
when women were afraid of their husbands (81.4/1,000), who had childhood
exposure of parental violence (66.9/1,000), husbands displayed increasing marital
control behaviour. Overall prevalence of violence was low in India as compared to
other countries following low levels of reported violence against men, or societal

Pressure to prove masculinity, and remain silent about abuse for the fear of shame,
and limited awareness.

51. Which of the following is not a reason for Spousal violence on husbands in
India ?
‘ A)-‘ Economic freedom of women
B) Threat on masculinity of men
C) Women indulging in controlling her husband

D) Alcoholic behaviour of men

52. Spousal violence on husbands is more by
A) Working women
B) Women having access to mobile phones

C) Both the above

D) None of the above
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53.

54.

55.

56.

Which of the following statement is correct ?
I. Violence on husband increases with increase in women’s age.
Il. Spousal violence is more among older women.
A) Only | is correct
B) Only Il is correct

C) Both are correct

D) None of the above is correct

Which State has the lowest rate of spousal violence on men in India ?
A) Tamil Nadu

B) Andhra Pradesh

C) Rajasthan

D) Sikkim

e

Prevalence of violence against husbands increased rapidly in

A) Sikkim

B) Tamil Nadu -
C) Goa

D) Mizoram

What according to the author is the reason for low prevalence of violence
against husbands in India as compared to other countries ?

A) Violence against men is not reported
B) Societal pressure to prove masculinity
C) Remain silent due to fear of shame

D) All the above




COMESSN 501 14- T O

Direction : Question numbers 57, 58 and 59 are based on the following pie

diagram.

a7.

58.

59,

60.

A : Printing cost ¢
B : Cost of paper
C : Royalty
D : Advertisement charges
E : Other charges
If the cost of paper is Rs. 16,000, then find the amount of other charges
in Rs. is
A) 16,000 B) 10,000 C) 8,000 D) 12,000
The tax deducted at source is 10% of the royalty amount. Then the amount
of tax paid is 4
A) 1,200 B) X 800 C) ¥ 1,000 D) ¥ 8,000
What is the central angle of the sector corresponding to the expenditure
incurred on Royalty ? {
A) 30° B) 36° C) 54° D) 60°

Statement : Detergents should be used to clean clothes.
Assumptions : 1) Detergents form more lather.
I), Retergents help to dislodge grease and dirt.

A) Only assumption | is implicit
B) Only-assumption Il is implicit
C) Either | or Il is implicit

D) Neither | nor Il is implicit




